
PreCalculus 

WS: 9.2, 9.3 Quiz Review ANSWER KEY 
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5. Center: (-5, 1); Vertices: (-5, 13), (-5, -11); Co-Vertices: (-14, 1), (4, 1); Foci:  731,5   

6. Center: (-1, 1); Lines Containing Axes: Transverse x = -1, Conjugate: y = 1; Vertices: (-1, 4), (-1, -2); 

Foci: (-1, -4), (-1, 6); Equations of Asymptotes:  1
4

3
1  xy  

7. Conic: Hyperbola; Center: (-1, 3); Foci:  3,131 ; Vertices: (-4, 3), (2, 3) 

8. Conic: Ellipse; Center: (-5, 4); Foci:  4,155 ; Vertices: (-9, 4), (-1, 4) 
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